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Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet) published
on the website.

All suggestions are to be submitted with reference to the Master Question Paper with
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should be sent referring to the Question, Question No. & options of the Master Question Paper.

Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

Objections and answers suggested by the candidate should be in compliance with the responses
given by him in his answer sheet. Objections shall not be considered, in case, if responses given
in the answer sheet /response sheet and submitted suggestions are differed.
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question in single sheet shall not be considered & treated as Cancelled.
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001.

002.

003.

004.

005.

006.

[y vl acud 8 Asmda 20 214 d-l 018 A Al Al UL 56 Al uioy d) ?
(A) AL A€l [(Brul — s3wn

(B) Ry el [3-uRl — Hig-2A-el

@)uerudl 4L Bl — dlaa

(D) BEUR-81530 AHAAL Gl A2l el [3ul — sidleioq

HeLog Ued UM 2 d-l Ll Al vugal.

81 UE At
1. »id a. aaldia
2. alx b. Aw
3. U c. MR
4. AR d. [Qi21212
(A)1-¢, 2-d, 3-a, 4-b @1-v,2-¢,3-d,4-a
(C)1-d, 2-a, 3-b, 4-c¢ D)1-a, 2-b, 3-¢, 4-d
A cusal s

1. ade-ll au A 2l Qd sdl.
2. g (ol (A, 54 sRue AAd ™ dvt - Nt aRani [Agd Ul dl vl »uda 8.
3. Agopd [aellu - opd zepul Al Het [AgdL sdl.

(A) WAL 1 24 2 9oy 89, (B) HI=L 2 24 3 419y 89,
(C) WA 1 241 3 9oy 8, @)1, 2 213 o uou .
A qusal Asil

1. 9LURLEHI AR 5L AHS 2udd 69, viuRl UL 9s1HI 20 AL 2ude .
2. vicudlsidl sl A sie eami >uddl 9.
3. AW 5L 62 A5 AHE 6 A d PR Aln-ua [Feani »uda .

@)1, 2 2143 00U 8. (B) {1t 1 241 2 412y 69,
(C) WAL 1 241 3 Uiy 89, (D) HAL 2 24 3 Uiy 89,
A qusal AsiAl

1. AU USA SASRIHL ‘U252 LI UH HIVR dua 6.

2. MU UG L5 IR AZ $AAA QAMA 1000 Ay %+l [ARr2 usi-) -uea sen 6.

3. 2uufl-l 0 1 “SLsATA Ll HuAed SIAHE A HA 6,

(A) 1,2 24 3 QoY 69, (B) HAL 1 44 2 419y 89,

(C) 1A 2 11 3 Ulou 8. @)1t 1 14 3 wou 8.

A2 A2 WA 56 A/ Al ulou € ?

1. euRdHi WiZolloil 2uamn sidise vie add 8d A d2il s, (B, exel, sl dwsls Sl
A3 54 Sl

2. 3 ALSIL YR, M3, viMld, sl Fa [QaRiul Quidl siélzi-l 2au-u s3a sdl.

3. [Benqi weiiellA “Aud R w152 - 16007 6121 S22 Sedlun su-dla ydlu [Qeairui qui-l urai-l
2UUY Sll.

@) 1 272 wou B, (B) HAL 1 214 3 00U 8.
(C) H1aL 2 211 3 91y 89, (D) 1,2 21 3 92U 8,
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N Y. =\

007. Al 1857+ AWML 2L Al 2 d il [Qeu-l Al usal.

1. 51Y2 ERLTE TE TRV )

2. auisl b. Gl €% S A

3. iRl c. A asdlonsd

4. pALlAYR - [BreR d. llker garle

(A)1-d, 2-a, 3-¢, 4-b B)1-b, 2-d,3-¢c, 4-2a

@1-2,2-b,3-¢,4-d (D)1-a, 2-d, 3-¢, 4-b
008.  ~ll2Arl cusul ASIAL

1. A% AH HIS~ AU IR syl 2L saMi 2044 Sl

2. HeleHL sldlon AL s snanll e [Aengul 21 sligal A3 534 Sdl. “UAialts 1l

AL A 534 8l

(A) HIAL T sy AU 89, (B) AL 2 QLU A1 69,

@)1 211 2 vid awsai wiou B, (D) 1 27 2 6i cusul woy ).
009.  ~ll2Ar cusAl ASIAL

1. 1885 9l 1905 YHI- (3l xdla Herueu-l s11oll<l, Ham sudl 21 22 Wil stmelldl-u sual
(Al (sl S04l 20 S

2. 1906 - 1919 Ul AHAAUGUHI, FSLAUEL A HANAIEL AAlAH] AHARL QLA S, VUL AHU ERUA
UL A UBL Aol Wonaal st sl 2udd dl.

@)1 11 2 vid wlou 8.
(C) WA 1 U129 89,

-

010. IRl UL A7 20l U1y < ollsdl.

0
1. wewt
2. [RayR
3. A3rdR
4. yudl
(A)1-¢, 2-d, 3-a, 4-b
(C)1-d, 2-a, 3-b, 4-¢
011,  ~{lAA- cusul AsAL:

(B) 1 11 2 i 4ioy -,

(D) WA 2 U1y £9,

QU
a. advy {22

b. AsA[&21 dvua

c. 3sH8ld

d. Alddia
@1-p,2-¢,3-d,4-a
(D)1-a, 2-b, 3-¢, 4-d

1. (8% adat A 194741 UAIR $AUHT 204 Sddl. FHL MR, B 6 (i addld ada

ML 20 gl

2. gl UREIR acaMmns udd v du- uRa sl QL ). A-n 29l ol MR A8 e Aasid vyfgdll
[Afa-ls20 53¢ 8. 24 S1AM1 UAH USH FHLAARIR-AL HSIRIAN MRASHIR[AS DA 534 8.

(A) WAL 19129 89,

(C) 1 211 2 biA uioy 4,

(B) HiA 2 W2y 89,
@)1 211 2 vid wou 8.
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012.

013.

014.

015.

016.

017.

018.

A=A A3 51 AL

1. adAdL (e a. 26 AUl

2. waTus (B b. 15 212

3. GURAAL el (URlAY AR -4 c. 3L AP-sUAE

4. QUATL UAH AZUHM d. asald aeiwad)
@)1-b,2-23-q,4-¢ (B)1-a, 2-d, 3-¢, 4-b
(C)1-d, 2-¢, 3-b, 4-a D)1-¢, 2-b, 3-a, 4-d
DETETEN PR

1. Rugyr sulis-i auaml slasiauda duisiudal [Rugdy aveiqauan’-l 2u-u s34 gdl.
2. el Geunlaut uan-i seuRL HIG Ad W], S 20 kg, RN 133U Ald tidd 8dl.

(A) 1 27 2 6i cusdl w10y ). @)1 211 2 virl sl wiou ©.
(C) M= 1 sy Uiy 89, (D) HIAL 2 cUusd ALY 89,

sld, 22 21 d- usR- 56 ALl ulou Al ?

(A) eASHIR ARA — dAzsul @) [Gisunt wgraay — s
(C) $HIR AMA — HSLS1Y (D) wadl Ha — -ues
DETETEN PR

1. GrR *uRd- HlEAN _uydidl Rl adls wvaid ¢9.
2. el cua-u HlAl uudidl, glasddl adls 2unvuu .
3. geaR Hl2 Agd da grl [AuiRl sRauml 20dd ed. s¥dld 22 Alen Apdl2i s-udd 8,

(A) WAL 1 241 3 9oy 89, (B) HIoL 2 24 3 419y 89,
@) 1272 u0u 8. (D) 1, 2 27 3 641 % ALY, 6.
S IDETETEN PR

1. ueaa daqt Az usielayy M-l 2L 536 edl. Yo Al w3sH[RRA dl, 2R 20 Ui
{21 s 6.

2. situs YA, sion ueaRidl oidd 8. defl d- “son datisy’ el ueL invami 2ud 8, Hid
vild ] YRR AEA darit Al vinda e,

(A) HIAL 1 A1 69, (B) AL 2 U9y 89,

@)1 211 2 vid wiou 8. (D) 1 27 2 6 244194 8,

DA s 2R st e ?

“Quata o+ el d- 581, 2 Ul UL e 25
uRE:u GUSIR 53 A WL LM L 20 R,

(A) HRious @) =R w3
(C) il (D) SHi-e

A2-u U 58 daasan - sruaa wdisad Yl gl avuda - ?
@) u-i-u osi (B) 4+l ayaid
(C) uedlaca™ (D) 2Ll U
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019.

020.

021.

022.

023.

024.

025.

IRl U8 AL (Places) il 20+l 58 AL uloy -l ?

(A) 82R qau, S EDTRRV S (Huzoor Palace, Orchard Palace) — AA
@)ud 35 04u — ainAR

(C) azHl [Qenan ydn — agiel

(D) s3H [Aan uda — siaBey

il {2 24 20+l 5 Al ulow el ?

(A) 3548l ¥[8 (Rukmani Temple) — gl251

B) sl Ql’i%-l L) (Shatrunjaya Temple) — wellaiu

(C) %~ {2 — Anglae

@)uiclu-l 222 2usm (Sandipani Mandir) — WAy

-\

JopRAedrll G- i A=l a0 Al dllsal.

gall-aua O}
1. sl A a. -ole
2. glgt g3l cua b. Asigl
3. -aavil aiq c. VHEIAE
4. x4l 58l A d. wewl
@1-d,2-¢,3-b,4-2 (B)1-¢, 2-b, 3-2a, 4-d
(C)1-b, 2-a, 3-d, 4-¢ D)1-a,2-d, 3-¢c, 4-b

HouAl v A2 WS S oAl iy -l ?

(A) 4252-Ul WUl (Pushkar Fair) — A%

(B) Y43 182 WUl (Surajkund Craft Fair) — sZlaweu

© 2&%3,2 sed 82 (Sonepur Cattle Fair) — Brsiz

.éw{la Al $2 (Hemis Gompa Fair) — RETDICRITE]]

QURAL el 247 %A A2 WAL 56 A wlow ) ?

(A) AR Al (Gaurr-Maria) — tdla21e @41 14 (Gaddi-Nati) — »um

(C) A€l 4+ (Siddi Dhamal) — 9\%3Ud (D) yelau A8 (Purulia Chhau) — ufZH sidun

2L AL 2l AU A, FURATL GIURHUL AHA SAUUL 20 9. 24 ouotd, DA WS 5O A
Yoy el ?

(A) 22 [au — aHadl wel, Aue-u oin A8i-l AYsd viss

@) 142a~s — ou Al woleals Rugidl, A% Ae W2 AU UHis

(C) A2 — yneyd s

(D) 21HRsL — yda 28520, ~uls adlan, Guuyysi ue

®RA A, 56 A 2uidlA dA 2AARUMA $AA didid 200 s2cumi 2nda s ?
(A) 26 Ay, 1949 (B) 26 W2, 1949

(C) 26 oALS, 1949 @26 33012, 1949
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026.

027.

028.

029.

030.

031.

032.

=\ =\
.

{IRRUAL A9 1 Al (vt dloy Ad dAlsal

w26e CRE]
1. 14 a. a1 2 AR WdAdL] AEe
2. 21 b. SIAEL AMEL AHIAAAL
3. 24 c. Hs suoidiql adlae sau adaL
4. 26 d. 1w QRUL tuosin ALsP Avicn v Uldeiy
@)1-22-d,3-¢,4-b (B)1-b, 2-a, 3-d, 4-¢
(C)1-d, 2-¢, 3-b, 4-a D)1-¢, 2-b, 3-2a, 4-d

QUR AL HTHIRRIAL S 29EHE 1A Yorot-ll AdAS saumi udd € ?

“H1 g 20 cRLl A 2L 2114 $d) 259 ). 94l dHi eatdd Rigidl o A%u adlazui
HAMA 6 1 SRUEL A3l avid 21 Rugidl @y wsandl -l 529 89, - (-4

(A) 27 (B) 35

@37 (D) 39

A2 Ao uRa- siRRML 58 saHu s 2uddl © ?

“RURAL AHA AFUAAHL WRARSL WS 15 Av Ela-dl SIUEL AU dH $AL HIS ABU MU 59"

(A) 5au-42 (B) 544-43
@)san-44 (D) $44-45
WBETETEN PR I

1. 15 due WY, 7 AU[A 2 vigsH ABUAML S ALSAML UH 2U0eLAL 6L i) el
2. Aue- Al Yed tHuRaHE titrRl sau 3(1) 241 3(2) Hi ealaaHi 2uddl ©.

@)~ 1 s wou 8. (B) HIAL 2 AlsU U1oU 8,

(C) 1 241 2 i sl U0y 69, (D) 1 241 2 i cusul A1oy Al

da wlgl, AU wel w AHadl AE), MR- siRRAl 58 guRui ealda © ?

@):uaxll (B) 215l

(C) al (D) sl

A W4 56 26221 oirRelly 4269 ?

1. Zeell2uaion 2, eunaidl 3. dls A Al 4.0 A3yRd alduil w2 asdlu suaia

(AW 1,2 24 3 (B) "1 2, 3 i1 4
(C)WA1, 3 x4 @1, 2,3 24
A Al AsAl

1. dud 20 o 2l sitzemi 744 gl ermd saumi 2udd edl.
2. U YHIRL 24-4-1996 &l AHAUT 1A el
(A) 1 211 2 6id 912y 89, (B) H1A 1 912y 89,

(C) HA 2 WU B, @)1 211 2 viq dlou 4,
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033.  bad- Aeild san 24 d-l Ao i aiey Ad duisal.

1. 243 -5 a. dAd-l A, ABSIRL a0
2. 243 -9 b. Yudidl Yed

3. 243 -3 c. Uil Aaxu

4. 243 -% d. AHAUML

(A)1-b, 2-a, 3-d, 4-¢ B)1-¢, 2-b, 3-a, 4-d
@):1-d, 2-¢,3-p,4-2 (D)1-a, 2-d, 3-¢, 4-b

034. DA sAL ASIAL:

1. 2[‘%:1% WA A@SR 2010 (National Human Rights Commission) A 2y 9y 199641 2da
Sdl.

2. il ARAL MURAAL GIHIREL il AUML 2 8 dl d eitnellu A O,
(A) HIL 1 A1 89, (B) AL 2 %19y 69,
@)1 21 2 viq wiou Al (D) 1 247 2 6iA Yoy 8,
035.  ~ll2A- cusul Asxl.
=l @an guild dH diosH -
1. 18 20l 50 ani-l Gu-iL dlsi cist @S A3 .
2. s Yeyrll (SR04 3L 2 v Yl Hee saumi2ud 9.
3. AL UL ALl AUML N8R &st-l oisl giL Hadl asia 6.
(A) HIAL 1 211 2 410y 69, (B) HIAL 2 ¢4 3 UloU €9,
@) 1 273 u0u 8. (D) 1, 2 A 3 6441 % ALY 8.

Y N\

036.  cuRd-ll dla Ruusdl 24 (s am {3 (IRDIA) gy, Al 56 Aeniiq, SiHRes [Rrendl
iz, §ryey (D-SIIs) N8R s34 9 ?

1. LIC - 155 $-4-4 slulRe

2. oA SrRJ-AU slulan 215 S-fla

3. <y S-dlul viy-u su-l

Al (B) H1AA 2

(C) A 3 @)1, 22113
037. QA1 cusul A5

1. oflow quafa dior-umi, areusdlie yudan, sl sM A ) vie iR siua 53 as
21 goual UR [Ra=1eL atag »l You Sqil .

2. uindl yaafia digumi, Aol g sdl 247 2uciReidi wlt Yo azuis gdl.
(A) 1 211 2 6id 912y 89, (B) 1 241 2 i iy -4,

(C) AT AU D, @)1 2 wou 3.
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038.

039.

040.

041.

042.

A=A sl AL :

oY =\

1. W+ GuRAHL (Ancient India) Vidl, Gelloll i Adl &l vioL o [AsA AAA Sl A GURdAML
Yaglsion-l qael Al L Sdl.

2. [BlRa i g1 Gallardlla, srasen sidloRid, aluel, vidl, 4él st Bl sueidl [Bul2e 8] 214
MR (@RI i 2udd gdl.

(A) HIL 1 A1 69, (B) AL 2 %12y 69,
@)1 211 2 viqd wiou ©. (D) 1 241 2 6iA Yoy .
WBETETEN PR

A\ =\ =\ Y

1. 9 - M2 uleyaq HislldlZ) gjeia a8Hi Sasdls ddlsaril Guald adl d HIZ A3 sAUH 20dd 6,
(Shoonya Mission)

2. A 20019 gIRUIT’s At Gewe s Su-llzal i 2i-usil AUl A el ARl Yaural-l »uaa
8.

(A) HIAL 1 AL 89, (B) AL 2 %19y 69,
@)1 211 2 viq wiou ©. (D) 1 241 2 6iA 4oy .
WBETETEN PR

1. 1 2y2usl, 2014 - A% -Md 2uaio-l a1 s2ami 2udd gdl.

2. Al 2uaia gkl el giadled Se3sudl 2 sAHL 2udd 6. 20 S35AHL @ 20 HUESIHL
AL A 99,

(A) 1 211 2 6id QoY 89, (B) H1A 1 912y 89,
(C) HA 2 WU B, @)1 211 2 viq dlou 4,
A qusal AsiAl

N D

A 2023-24 L QNHI, AdHL [BHdin A A, Al Ay A8l a0 2441 @l [l 1 yeorot
8.

1. Al & - 54.86% (Q21&42L)
2. GaldL &ix - 27.55% (Q21e4dL)

3. $[ A Ao 82 17.59%

(A) WAL 1 241 2 9y 89, (B) HI2L 2 24 3 QoY 89,
(C) WA 1 21 3 9oy 8, @)1, 2 2113 o wou B,
A qusal AsiAl

N

1. MIRA U HEl 22 S1-21Udd AU (MSCS) 2is2 861 “rand si-2luRéla xAsAul2
[AR23 (NCEL)”’ -l 2a1u-t 534 69,

2. UES - Aand AlseaR S-uuRda WS F332 25 S=Elul - 20 BisHg AsHA AR O,
(A) 1 211 2 6id 912y 89, (B) 1 241 2 i iy -4,

@) 1 u0u 8. (D) WA 2 AU 8.
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043. DA sl asl e
1. €35 ABUHL MSP A2 AHA2 81y 89,

2. cell auadl gsidl (FPS) -l H2as gll agd ol A i 21y [Adadl oraioigidl 2ividld

Al 2 9.
(A) Ws 1 ulou 8. @) 2 wou 8.
(C) 1 211 2 6id 4oy 89, (D) 1 211 2 biA U9y A4,

044.  GURAHE Yrued e usil sinsllug oiesi 8 ?
(A) & @2
(C) AR (D) uia
045. (A0 cusul A5
1. deR1d Al21SH 6llS da1d U5 AlAs A 8.
2. 9drll 48 [Brri-yu vig R Anan iz 211 adlaz 21 6l ss 8.
3. 9llu BredloL uielfl 2010 244 9l Aausdlor 2yAa- 2015 [Ast - s widi 8.
(A) WAL 1 241 2 9y 89, (B) HI=L 2 24 3 QoY 89,
(C) WA 1 24 3 UdU 69, @)1, 2 2113 o wou B,
046. AR AU NS &AW AsHL 2L drlL At HAsD A2 WS 56 A ulou el ?
(A) A1 2uesdly 21 54lsa [@Hles (GACL) — asieu [¥eal
(B) o2 2l fis [Asiu siulRaq (GIDC) — il [eal
(C) Axud el Adll sElad R i 3Hlsa dl. (GNFC) — ™3 [Feal
@152 AU A6l sl dl. — cnanor Preal
047. QA1 cusul A5
1. ApuHl 54 9 sM-squndls A ©.
2. eadi oAl HoLdl 16 Yea ant usiRiHiE oAUl 6 You ad S5t [ReH Aa wa 8.
(A) HIL 1 A1 89, (B) AL 2 U1y 69,
@)1 21 2 viq wiou Al (D) 1 241 2 6iA Yoy 8,

-

048. 9%~ 6{8l (Dams) 27 el A4l 2usal.

oiy -1l
1. s31u a. Wdlar
2. G5 b. awdl
3. 821 c. AU
4. sidlawst d. iU el
(A)1-¢, 2-d, 3-a, 4-b B)1-b, 2-¢, 3-d, 4-2
@1-2,2-b,3-¢,4-d D)1-d, 2-2a, 3-b, 4-¢
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049.

050.

051.

052.

053.

A=A sl AL :

1. (g2 dw -Ald - 2023 -l Y 8 {-2-2{luloL (Re-engineering) 2A- it airi-l veedl [RstusRl
WS QAL ST A0 AL S .

2. AUl o 2A[MAH 4 2UHIR M BUR 2uHIElA 8.

(A) WA 2 ulou 8. @1 11 2 uiou .
(C) WA 1 U129 89, (D) 1 211 2 biA 919y 4,
A Al Asil

1. QuRAH] wglas 5201 sl 2 6 a (9) USIRL .

2. A5 HBA AR 20U Sl 8.

(A) HiaL 1 A1 89, (B) AL 2 %19y 69,
@)1 211 2 vid wiou ©. (D) 1 241 2 6iA Yoy .
Al cusal SR

1. IRAHL €2 ARA [Batidle [Aaurui 100 )l atnR Hradladl 42uadl Ue Rl Adgy, UL Hell,
SEIYAL, WL, §8RU, $1A3] 2 QeI HlASIR Ue -l AHIdL 1A 69,

2. €2 ARA [saiHleR 10 ol 246l acdlalladl 4radl ueHi [Bistdr, cUsHR, BAAHR Dedl-l Y s
(2Rl aHide 21 .

@1 11 2 6iA sl wiou 8. (B) 124 2 6iq cwsal low 4,
(C) M= 1 sy Uiy 89, (D) HIAL 2 cusd ALY 89,
WBETETEN PR

1. ddlas A ngffidl R, by, uRasH, 4 Al aHde iy 9.

2. agads UMAHL ARl 2utRa A, Al 214 (A5 ugfi-d wuda i 8.
3. U uatini Fneudl, aas sl 24 Ald Qs asda i 8.

(A) WAL 1 24 2 9oy 89, (B) HIoL 2 24+ 3 419y 89,

(C) WA 1 24 3 UdU 69, @)1, 2 2113 o wou B,

Y

QURAL ¢ed - (Aol A Al Yo Segi-l ALl sl

I Yo 5y
1. WRH-w d a. MaHR
2. slaulEu g b. ALY (AAB11E)
3. Gr-uwa c. goidl
4. yd [Bru e d. FHaYR
(A)1-a,2-d,3-¢, 4-b B)1-b, 2-2a, 3-d, 4-¢
@):1-d,2-¢,3-p,4-2 (D)1-¢, 2-b, 3-2a, 4-d
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054.

055.

056.

057.

058.

059.

DA sl AL :
1. AsulAsizi yedl-u yedll awdldl d-u S 3w A cua wia ©.
2. A {ld Yeraa 33 (5.4 s wd 8.

3. e Ad Bsuae 2900 (3.4 A s w4 €.

(A) WA 1247 2 40U 8. @2 i3 uiou s,
(C) M= 1 241 3 Uiy 89, (D) 1, 2 A1 3 6181 % ALY €9,
AL cusal s

1. yedl qwidly sa &As0 54.86 53 AL (5.4 © 1 dHi H8IA01R, AHgl 1 yedl e[Rvigi una
71:29 U HHRAHL 8.

2. elam onondHi Hlg uHI AR € 4 Yl @Al 81% (Al »u dNvuHH 8.
3. GriR olloudHi AR [AeURL AR 8 21 @™l 90% sl (ARl .

(A) WAL 1 241 2 9oy 89, (B) HI2L 2 24 3 419y 89,

(C) WA 12 3 42U B, @)1, 2 211 3 o1 o wlou Al

MIRA 2 Yuacd 5241 Wislds ueaini agl asiu ?

(A) 4 @®:s

© e D)7

AURAl ol Sedl usRHL adani 2ud 69 ?

(A)5 @o

o7 D) 8

=5
<,
[2]
'
fas)
ja B
K<
o
L

AR BMHAIRRY, A Hoitld e

LHYLRRY Bl
1. vilerdlan a. uHdl
2. FAR b. AR
3. fopElsL c. trlasisl
4. dldlon d. yausia
@)1-b,2-¢,3-d,4-2 B)1-d, 2-¢, 3-a, 4-b
(C)1-c, 2-a, 3-b, 4-d (D)1-a, 2-b, 3-d, 4-¢

A 1A UL suL AR HIRa (Yoo vilRa) wa & ?
L oisuse 2. [Qe-ude 3. Wadly 2z 4. verlBiglan 5. 22 6. sdy 7. d-2l-ugde
@)1, 2,3 24 (B)3,4,5%116

(C)4,5,6217 (D)5,6,7 21 1
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060.  ~TlA- ausul sl :
1. ®RdA @™ol 7516 (3.3 aivil el [3uRl wia 9.
2. 2011 1l Azl 2wl Rl GuRdxl 1-3-2011 )l adl qamar 121 53+ edl.
3. G uee Al 2N awdl 4iad, A B,
4. MRl adl-l ol 382 €2 Al (5.4l L ©.

(A) 1,2 24 3 9y 89, (B) 2,3 21 4 A12U 89,

(C) 1,3 i 4 02U 69, @)1, 2,3 x4 00U,
061.  QURdr 4iER (ports) A AU U1 Ld disal.

AR o{g

1. 50 a. wlgu

2. dlRa-ug b. sl (Kochi)

3. sules ¢. ¥~ (Ennor)

4. »idla d. WAAAR

(A)1-¢, 2-d, 3-a, 4-b @1-v,2-¢,3-d,4-a

(C)1-d, 2-a, 3-b, 4-¢ (D)1-a, 2-b, 3-¢, 4-d
062.  GURAL ANUASL 2 A2l Sl AA %S :

1. 2l AgdvR dl. Aun a. @idsua (Physicist)

2. Al . Al o b. axuld a2 [Qsun (Plard Physiology)

3. 3L il ool cueu c. Ay Gofl s1dsu (Nuclear Enery Programme)

4. 3L [as w00 d. cudla x1a59 51454 (Indian Space Programme)

(A)1-d, 2-a, 3-b, 4-c¢ B)1-¢c, 2-d, 3-a, 4-b

@1-2,2-b,3-¢,4-d (D)1-b, 2-¢, 3-d, 4-2
063.  SAUMIL s YA 51281 vieceuni Y34 Rno-i cwael 30 ad u ¢ ?

(A) MRy, @S 1 uesSs

(C) stoinL raisss (D) “uu2i%-
064.  “diauril AL’ A DA suL gt AHd A S ?

@)1 Run sz (B) vual-l AL

(C) 3[Run ouy sieiie (D) 3[@wn stz
065.  cuRa-ll dsulAs A2 sl A0l 21 d-u 0] Al dlsal.

1. Arzd A3 duA SlReye a. dlnen

2. Aand YA fual SlReeye b. s2%

3. A4 Adu u SlReeye c. Sy

4. A-zquidel Nu SlReeye d. dl [Bed)

(A)1-a, 2-d, 3-¢, 4-b (B)1-b, 2-a, 3-d, 4-¢

(C)1-¢, 2-b, 3-a, 4-d @1-d 2-¢,3-b,4-2
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066.  ~ll2Ar syl ASIAL 2
1. lwea $-fu (Digital India) s1isH SAsAMSA 2 HURAL 25-Al® HNAU G121 1Y QUKL
2094 69,
2. (22 (Diksha) 24 AU a2 Aads Geisid 8.
3. DigiLocker 2 Aldx[Rs g2elido-l Uurdu Guastdidl Al »ud 6.
@)1, 2 2143 00U 8. (B) {1t 1 241 2 412y 69,
(C) {121 2 211 3 U0y 89, (D) {1 1 27 3 410y 69,
067.  Hl SsHAA 25141 2152 (The Information Technology Act) sA128l HAUT v € ?
@17 25210, 2000 (B) 17 2521612, 2004
(C) 17 »lis21R, 2008 (D) 17 lis2104R, 2012
068.  sivye2-l (runi uElls2eL (Authentication) 24 ...
@) R+i2 Rizen uR quasdi-l 2iavua viad s,
(B) Gual ulzw (Insertion)
(C) 5381 (Modification)
(D) »iflsa (Integration)
069.  ~ll2Ar cusul ASIAL
1. S=flurt AreR 512 WA S1AsU (ICSP) A s@sTil Wid 2udd 69,
2. $=dlunt S[R22ye 2is duie Al A edAGA vid 2udd .
(A) WAL 1 U129 89, (B) H1A 2 W2y 89,
@)1 211 2 vid wiou ©. (D) 1 247 2 6i iy ).
070. R IRL dRcll HsUHL 21 WAs152 [ A2A52 2 d-ll dilvad] ol dioy dd sl
1. INSAT - 3DS a. 14 &S, 2023
2. Aditya - L1 b. 26 4R, 2022
3. Chandrayaan - 3 c. 17 8920, 2024
4. INS - 2B d. 2 AR, 2023
@)1-c,2-d,3-24-b (B)1-d, 2-a, 3-b, 4-¢
(C)1-a,2-b, 3-¢, 4-d D)1-b, 2-¢, 3-d, 4-a
071.  GuRd- ysellu: Us2 (Nuclear Project) il d-ll A%l 56 ol ulou el ?
(A) §31544 (Kudankulam) — dl‘-ﬂéldlé .3[32[‘{12 (Kakrapar) — HSRYN
(C) 152U (Kaiga) — $Ql25 (D) -1 (Narora) — Gtk U2
072.  ~TlAw cusAl AS1AL:
1. $ra1-222 2u-uRant RReH-T1 §2 (InSTs), §& 10 AUHL 24l st-llauni 2uddl €.
2. 2L AYUHL 10,750 CKM 2L-a[@8im A suvicle 2naios- 9.
3. Al dand araRad Y[ gl uaHl ysani »uddl 8.
(A) WAL 1 24 2 9oy 89, (B) HI=L 2 24 3 419y 89,
(C) A 1 %41 3 ulou 8. @)1 2 wou B,
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073.

074.

075.

076.

077.

078.

079.

080.

auRarll Al widlflui 56§ ouoial Ada 234 ) ?

1. 22U[Rs 32 850 100% Yl FDI A Ho2)

2. xRl ysasll s2a1 422 215 582 naa Asaru YH-2-l ysasll
3. waz duedl ylam we “ofl- 2d 2188 w2l (GTAM) a32ud

(A) WAL 1 U129 89, (B) H1A 2 W2y 89,

(C) WA 3w 8, @)1, 2 213 o uou .
vyl orouL Y3,

1000, 729, 512, 343, ......

@216 (B) 196

(C) 121 (D) 81

6 4 4 1

4 N L 7
=_? Jyell.
5 U ? 1
6 10 14 2
A1 @o
OH D) Y

HE 2 i MR Sreaddl Gu-l 9RITR (ratio) 5:4 il €. AR A GUE 24 ARUTR 11:9 il A &9, dl
uaidl sl Gu sedfl eal ?

@24 (B) 27 ayl
(C) 40 (D) 48 4
vyell orouL YR,

SCD, TEF, UGH, , WKL

(A) CMN (B) UJI

@vu (D) IJT

6 W1, 2005 i AHAUR (Monday) €14 dl 6 HIA, 2004 1L A% $4L U 83 ?
(A) saaR (B) HamaR

(C) AHAR @)

A, B C o ARRAA A1 45 kg 69, A L B o 419 A% 40 kg 4L B 211 C f A2 A% 43 kg 9.
dl B 4 a%- 52 eal ?

(A) 17 kg (B) 25 kg

@31 x¢ (D) 42 kg

4l 10 -l 55, 60 21 45 [Qenell2Al 4aadl e wrenti-, [Qendli-a A2 1S 24 50, 55 21 60
8, 2 AooUHi [Qenedl-u A2 s Sea sa ?

(A) 53.33 @)s4.68
(C) 55.03 (D) 55.34
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081.

082.

083.

084.

08s.

086.

087.

088.

089.

090.

215 HElRML &9 (Six) HadlaAl 2145 2, 4, 6,8, 10 247 12 A53 AL L. 21 AA0HE 30 HI-lewi i) g2,
L4l 18 s2el auid gl ?

(A) 4 (B) 10

(C) 14 @16

ALAL A 1 20% T HEL, B GIRAGR A4 8, U A%UHI B U 20% § 4L A UL 5241 251 (%) 29 ?
(A) A "13% @A v 4%

(C)A~U5% (D) A UL 8%

25 514 A - 6 [Bauui, B - 8 [Bauiyel 53 93 6. A, B 21 C =18l 1o HollA d s1m 21 [Bamui yel
536 il d HIG At 3200 3L HYRL HOL B, U AARUHE C A 52e 31 1Y Hngl ?

(A) 375 3. @400 3.
(C) 500 31. (D) 600 31.

g gl Ml 33U 2.5 km/ scs+l (2.5 km / Hour) <L €. A€l Ul 01 215 WA 15 km / 15+
B34 A1 ALl A3 69, 21 WA gl Ml AU (against the current) 32 Sl / scusll B33udl asl
A5 ?

(A) 15 km/ seus (B) 12.5 km | 5eUus
@10 km/ sas (D) 17.5 km | 5eu$

8 Hlex x 6 Hlex x 22.5 A.HL. Nl vis Bara siriaanrl 9. €35 82 25 A4l x 11.25 A4l x 6 A. 4. Al 9.
24 AUHI [Banq Wi s2d)l Seil #3269 ?

(A) 5600 (B) 6000
@400 (D) 7200
“Harvest” W12 A1 W4 56 ouoid 340 6 ?

(A) Autumn (B) Stockpile
(C) Tractor .Crop

“5269 24%u” (Kutch Ajrakh) A 81441 GI Tag (Geographical Indication) HOl& €9, 5249 AW’
8 ollold 1A AsAA € ?

(A) 8-3gH-il dl (B) wied »ué

@) uiuriond s1us s (D) fug-u [Rieul

MURAHL 58 Su-dl2A g ami Bad 53l MCU Ru - s34 69 ?

(A) dl3L (Nvidia) (B) A¥Ri2l (Samsung)

© dv2d (Intel) .Hlé*&%\lq (Mindgrove)
sUL 2 AT Beell elusIHE aredl 9l €2 0.92% A HAA O % 9eat 8 erustil A Aol € ?
(A) Aleist (B) ®cltri

@)-un (D) Wagld

A3l ICC H[3El T20 ac$5u 2024 521 2AHT ALAUR 9 ?

@)ooz (B) 4 Mdars

(C) 2 [au (D) 5243
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091.

092.

093.

094.

095.

096.

097.

098.

099.

100.

[ 223 [2a - 2024 5013 HruaHl 20dd 8dl ?
@« (B) 8 4
(C)94 (D) 10 4

MRAHL tuo @ [Auy 21[8[AUH - 2006 (Prohibition of Child Marriage Act - 2006) 5412 @)
w3l 2udd edi ?

(A) 1996 (B) 2006

@)2007 (D) 2016

[Azni 56 $u-l CNG dafdd cuSs dl-a sag 2l 5329 6 ?
(A) €1 Hier siul. (B) TVS Hied

@) oronx idl (D) AL Hizd

8 AL gl “Arl YRuL WA’ o Bewert s AR © ?

(A) suR (Bayer) (B) Hi-RAL2l (Monsanto)
(C) A% 21 (Syngenta) @ <54 aFFCo)

39 (Rampage) s w1+ Bauda ¢ ?

(A) Anti-aircraft defence .Air to ground missile
(C) Anti-ship warfare (D) Surface to air missile

Y =\

A 2024 Ui MRAH sl S2dl dluazailld $u:0L (Mismanaged Plastic Waste) Ugl 2l
ASAALE ?

@) 7.4 {lu- 2 (Million Tons) (B) 5.6 llunL 2L (Million Tons)
(C) 9.2 Hlflun 2 (Million Tons) (D) 3.8 Hleflun 2 (Million Tons)
ey gl s2dl Adl e ‘aes 802 w2’ (WHS) il 3l gl amlae sacumi 2uddl ¢ ?

A)3 (B) 4

@ (D) 8

3441 A2 e aidn 5[x2ad (Seng Khihlang Festival) SIAHI $U1 A%UAHL 2UADA 2AA Sl ?
(A) dlsiu @

(C) ~wRud=s (D) HellyR

SRSl ARUA 5201 HIZ PRATUSH M2+ MUA3U s34 - [Asuaani »udl 84 6 ?
(A) Microscope (B) Compass

.Radio telescope (D) Barometer

2025 -l BWF a¢$ %g[Ru ols[fra- ARunRmg 2ualo- s eami a-u: © ?

(A) AL @)cu2q

(C) 517 (D) nasdla
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101.

102.

103.

104.

105.

106.

ANAASTL 53] 20 MU BriR Rual. (M2 . : 101 9l 105)

sasd : el 24 Wil azg 2l 240 9, d 9 51 53 69 249 3L {d 53 8 d Wl [Fsuun 2 Ay
2-duR, AW s YK %3Rd, F-HAd Qlri. Al GElusiml u usal, 2usdaL ag d Fysua.
wellil, eunsl, Yod aldazil €350 aua diq ugiel, Adl4 uR[Rald GulRad au 12 sausHi Adld
AL dl d R, Aldl, WAl sasd AU O A ul Yl dwd Yl 4 wa @l ydl el G
wgHAY 8. GER, AR, a0l a9l well2il Gu- Nulol i1 [Alael olid € § Adl4 Gglusiu
AusHl 2nadi d2il d-ll dw, dg sdaue ag 5390 2 9. Geui dlar genaard, Brandlui esii Fsad,
sl ES1ELL s2au, i ol dlssis saud, A eudl Gaugeiy sa1 AR adtidl gdsad
o uReuH 8. Ui gasd, [rsuaig unua uldain gia 6. d 12 di 21 %2Ld s 2undledl Mg
SIU 8. d Uldi-i AusHi uadl Aogazgiid usd 6, Gazidl-yaidla duid 6, Wini 4 8, usd 8, did
89, 513 & — d dA i W2 . awslllasin adi g e 77, ‘A g e 27, ‘GuH well’ — A usll d Add Y
8. 516 URL Al LLEdl 1 MOl dl UL 3an gdsaagt MElail x4 wdlzil sast Y4l x5 naizi sul
% 53 6. Yod au-dl Al ANdAd-l Yast aid ©, Al (Gl (A9 2l 52 8, uau-udad w8,
ARIR Vg 69, AASIAML 2 6, ASU[AS WYL 53 69, 212 ANd BUR WL MU 53 9 — 21 tibi-] wiesn
5951 555 maraurll §2691, g it Wnaandl Fvidl, gasa o Us e Slu 8. [Badus (1984) 58 © 5
S5 uRL Ad 2g AWl 2w adq adld 3 [Qlaag wRoun sl g oeug el aull d adldaa-dl
o32qdl g g AdA UMW Y.

sasdad u2sdra sy el ?

(A) Lysu (B) Ayl
@ (2as ) gl
saea g e ?

@ (B) ulReun
(C) ulRRald (D) ueldl
sdsafl g orH e ?

A) e @i
(O) [Qarwzl (D) 4L

sasadl Hym -l dRs elRa ® ?

(A) Alsua (B) [asum

(©) *lgld @0

sdsa R PUY ?

(A) 232 @

(C) 2t (D) Yyl

2UA $Sad-tl 249 wRual. (M. : 106 2l 110)

Ry dallay ag

@)= aieu 2 adl (B) a2+l 2eu auRdl
(C) a2+l 2neu sgcns dl (D) a2+l 2eu Anadl
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107.

108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

Alv Ysal %Y

@)1a3 2uua g

(C) AUHIA 54 %Y,

9w ¢jarul araidl

(A) vioL quAi iai

@100 V0 sial

218l vil2

(A) 2183 514 WR 1 Wil AsR
(C) udq 511 w2 wiél AsuR
detdlHi sisu

(A) 414 o UMD AU ddl dld
(C) 91D s ddl cud

(B) Al a1 ol
(D) BAIL s %Y

(B) vitt e 8ig
(D) vyt WAL sl

@1a2 s wR wdl asr
(D) U8 511w wIR 1L wél asR

(B) 2183 uRL A4 AU ddl caid
@)+ 1 asiu ddl ad

2 3lEualol 2 eual, (s <. : 111 4l 115)

gidl qedl

@)>uy 2udl 284

(C) 82y 4l %4,

dou medl

(A) 2R cuR 2uas 2uadl
(C) U2 UMl U a8 siadl
CIETREET]

(A) 4dl 28U Qudal

(C) 4dl ugian 54l

3w eiindl

(A) [2au 2uudl

@250 52

sl ex yauadl

(A) MYR Mgl 54l

(C) s+l 2uH £ cdl sl

(B) vt 4l oal
(D) HReuTR Rald

@)1 cuR 2usd 2uadl
(D) 2AUE UL MR 25 uadl

(B) 44l drui HiRal
@) 4ual v sl

(B) Q- »iug,
(D) ARl $24l

@) voil arauie wRuaal
(D) Add aldl sul 524l

A Aol au-uedl e s, (Mg . : 116 4 120)

AcAR

(A) euns
(C) Bena
Aol

(A) %5
(C) buguin

@&

(D) £

@ua

(D) RMd
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118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

128.

uLua
(A) WRUAH
(C)
YRIE
@)z

(C) Hlars
§%

@i e

(C) s4-l UsIR

@)dua

(D) yd

B) [
(D) arauld

(B) uall ou-

(D) &aefl

U AseHl [QRAH) ave vl (M- : 121 &l 125)

EHS

(A) auRs
@
AU

(A) Yri:aRel
(O) g
yRioul

(A) ydouall
(C) ulzondl
ais

(A) UM

(C) [ul®n
ugAN
@40

(C) sisle

A2 2uua [Aseul WA vl oasell vinvil. (us .
wiFl A3l AL,

@3-
(C) A

w3l osell sinul.

@A
(©) 9Alld

w3l osell sinul.

(A) d=[Rw
@ AR

B) vl
(D) ulRusa

(B) aeuld

@)usa

@100
(D) id:ouHl

(B) 24t}

@

(B) 3w
(D) 2151¢2
: 126 4l 130)

(B) A
(D) WA

(B) Y5l
(D) YAl

B) [84
(D) Uz
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129. w3 oasell v,

(A) 2Nailza (B) Budisdl

(C) Bidilzd @)l
130. vl gisell 2Auvil.

(A) Qe @Gl

(C) Geallw (D) Gleglln

K s (M. 1310135)
131, 2E5IR¥U1 Y dra Alell ay ueuas s € ?

(A) ™ (B) d321
@suu (D) R
132, cuudl 2[R nesR g o ?
(A) WRen (B) ey
(C) Aan @)l
133, Guaivied g ?
(A) Bl aeuugll sal 9 d @)% 8 uenuel s B 4
(C) ueuHee)l Gled adl Aoiy (D) BuR U4 s gLl
134, QR4 a5 waly sal e ?
@)>rpu (B) vl
(C) udsu (D) iduA
135, 2Au UL AESR Y ?
(A) Guain (B) Gunu
(C) st @)

K AW (e 136 4D 138)
136. 61 5 auR Aoci-u Auloell adan aved g 58 €9 ?

@) (B) s4=12Y
(&R (D) dcyu
137.  sa aHHi yduedl Gaugui B3 adl siu e ?
(A) Sd3dR gvg (B) Asleus g-g
(0 EXCTMERES (D) UY2AU g6
138, ‘WaRld’ xRl [Aus s
(A) v AR () RIERIEIEIE]
(C) HERLd (D) A B HAUL 89 d

K 2uld AoEl W As st UHS 0L (18-, : 139 ) 143)
139.  sdasidldg
(A) 25129 (B) 2»AlZq
(C) M @)+
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140.

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

5341 GUSIRA AR

(A) uRlusidl (B) §d8
@) (D) 2ueudl
8231 L A dal

@)>vs2 (B) AHR2

(C) yau-t (D) Ry
nafl A a1 g

(A) A5 (B) 21294
(C) Hn @)>1suq
gl Bu A5 ol Hdl

(A) Rl @04
(C) us (D) WSl
A8 e9ish. (U i, : 144 4l 145)

2492

@)1y + 2R (B) 24 + 92
(C) ¥+ 2R (D) 21 + AR
Geaun

(A) G4 + Qi @G + an
(C) Ged + cAlm (D) B¢ + Al
A8 oAl (2. : 146 9l 147)

Ge +8d

(A) Bgsd (B) Ged
@)cuaq (D) Gasd
Uy + e

(A) Ausan @020
(C) ulnan (D) Axdau
t9¢ Nl (U . : 148 4l 150)

“glas ¢ PuRedl mdl.

(A) dies (B) Guanld
(C) Svsam @)cui-sanm
‘HYR AU dd vidR Al

@)lad (B) ¢Rell
(C) wRidldast (D) &l
‘Ml gl eudi 24 cuicul, Al B 2u5041 U8 2uAL,

(A) Biagt (B) dae
@)yl (D) alad
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151.

152.

153.

154.

15S.

156.

157.

158.

159.

160.

161.

162.

The orders were that we the area within hours to prevent further loss of life

(A) had evacuated (B) have to evacuate

(C) shall have to evacuate .had to evacuate

WhatI is that we to think seriously about a thorough reform in the legal system.
(A) have proposed / should have begun (B) had proposed / were beginning

.am proposing / begin (D) was proposing / have begun

When we at the park, it darker.

(A) have arrived / has been getting (B) arrive / has been getting

(C) arrive / is getting .arrived / was getting

It seems that somebody to my father before the meeting, complaining that I

late for school four times last week.

(A) wrote / would be (B) has been written / have been
(C) writes / was .wrote / was

The young soldier that he in the battle.

(A) will fear / would be Kkilled (B) feared / was Kkilled

(C) fears / is Kkilled .fears / will be Kkilled

She always felt inferior her younger sister.

@0 (B) then

(C) than (D) of

Can you me that the locker is secure?

(A) ensure .assure

(C) insure (D) sure

He gave me to his computer.

(A) assess (B) excess

.access (D) axis

In the old days, both men and women were expected to dress for dinner.
(A) formerly .formally

(C) farmarly (D) faromaly

I can’t wait to listen to the professors speak about their research.
.eminent (B) imminent

(C) innovent (D) ennovent

My father looked at me and, without word, gave me hundred rupee note.
(A) No article, no article (B) a, no article

(C) the, no article .a, a

He broke at the middle of the speech.

@& ofr (B) in

(C) apart (D) with
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163. She hinted some loss in the stock.

(A) of (B) for
@t (D) with
164. Law is not only a vast subject very intriguing.
(A) but .but also
(C) also (D) and
165. you are my fast friend, I’ll inform your father.
.Even though (B) However
(C) Whenever (D) Wherever
166. Everybody stood up, ?
(A) did they (B) were they
.didn’t they (D) weren’t they
167. They were preparing the sweets in the morning. (Change the voice)

(A) The sweets were prepared by them in the morning.
.The sweets were being prepared by them in the morning.
(C) The sweets was prepared by them in the morning.
(D) The sweets are prepared by them in the morning.
168. Please shut the door and go to sleep. (Change the voice)
(A) The door is to be shut and you are to go to sleep.
(B) Let the door to be shut and you be asleep.
.You are requested to shut the door and go to sleep.
(D) The door is to be shut and you are requested to sleep.
169. Someone saw him plucking a mango. (Change the voice)
(A) He was seen pluck up a mango by someone.
.He was seen plucking up a mango by someone.
(C) He is seen plucking up a mango by someone.
(D) He was seen by someone plucking a mango.
170. Has a dog ever bitten you? (Change the voice)
(A) Has a dog ever bites you? (B) Have you ever being bitten by a dog?
(C) Are you bitten by a dog? .Have you ever been bitten by a dog?
171. They held a meeting and delivered speeches. (Change the voice)
(A) A meeting was held and delivered speeches by them.
(B) A meeting will be held and speeches delivered by them.
(C) A meeting is held and speeches delivered by them.
.A meeting was held and speeches were delivered by them.

172. That project was a piece of cake. (Choose the most appropriate meaning of the underlined
expression)
(A) Very profitable (B) Very difficult
.Very easy (D) Very complex
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173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

The fine they gave her is just more or less a slap on the wrist. (Choose the most appropriate
meaning of the underlined expression)

(A) Severe punishment .Mild punishment
(C) Large amount (D) Fine in cash payment

This car costs an_arm and a leg. (Choose the most appropriate meaning of the underlined
expression)

.Very expensive (B) Very cheap
(C) Second-hand car purchase (D) car without insurance paid

We need to hold our horses at this time. (Choose the most appropriate meaning of the underlined
expression)

(A) Invest heavily (B) Sell the stock
.Be patient (D) Maintain the secret

He will clean his room when pigs fly. (Choose the most appropriate meaning of the underlined
expression)

.Never (B) When it would be very dirty
(C) When someone else would clean (D) Do it next day
Can you please give me water?
(A) any (B) many
(C) few @) 2 tittie
There are people who speak the truth.
(A) much (B) any
(C) little @) - few
You have worked so hard last week. You look so tired now.
(A) shall (B) must not
(C) can’t .ought to
we leave now or do you want to wait?
@) shan (B) Will
(C) Since (D) Will
If there is an age restriction then you go in as you are too young.
(A) should . shouldn’t
(C) shall not (D) must

No other flower is as beautiful as rose. (Select the correct option showing the superlative degree
of comparison)

.The rose is the most beautiful of all flowers.
(B) Rose is a beautiful flower.
(C) Other flowers are more beautiful than rose.

(D) Other flowers are as beautiful as rose.
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183.

She is the tallest girl in the class. (Select the correct option showing positive degree of comparison)

(A) She is very tall in the class.

(B) Tallest girl in the class is she.

.No other girl in the class is as tall as she.
(D) In the class of all she is tall.

184. Maths is than science.
(A) the easiest .easier
(C) more easier (D) easy
185. Who is teacher in this school?
(A) the better (B) the good
.the best (D) better than
186. Silver isn’t as gold.
(A) more expensive (B) the most expensive
(C) the more expensiver .as expensive
187. It will be difficult to reach a on this issue.
.consensus (B) consasus
(C) consasas (D) consaysus
188. These details are misleading and
(A) erranious (B) errenious
(C) errorneous .erroneous
189. Select the correct antonym of ‘cognisance’.
(A) awareness (B) understanding
(C) consciousness .ignorance
190. Select the correct antonym of ‘derogatory’.
(A) demeaning (B) slanderous
(C) defamatory . complimentary
191. Select the correct synonym of ‘commotion’.
(A) silence (B) serenity
(C) repose . disruption
192. Select the correct synonym of ‘conceit’.
.arrogance (B) modesty
(C) humility (D) diffidence
193. Select the one-word substitution for ‘a ride on someone else’s back or shoulders’.
(A) Duckback (B) Hunchback
.Piggyback (D) Ruckcess
194. Select the one-word substitution for ‘a statement or proposition on which an argument is based
or from which a conclusion is drawn’.
(A) postulate (B) assumption
(C) hypothesis .premise
195. He was advised to stay until the bomb squad arrived.
.stationary (B) estationary
(C) astationary (D) stationery
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196.

197.

198.

199.

200.

Read the following passage carefully and answer question no. 196 to 200 based on it.

Foxtail millet can also be referred to as a miracle crop or as miraculous. These small seeds have
a little hull around them and are brownish-yellow in colour. Their flavour is nutty and sweet.
They are also a crop that is good for farmers and the environment. It is highly nutritious, full of
protein, vital fatty acids, carbs and minerals including calcium, phosphorus, magnesium and
sodium as well as vitamins A and E. It contains anti-nutrients such phytic acid and tannin. It is
a model C4 photosynthetic crop that can endure hard environment, salty conditions, and drought.
The millet is prepared to preserve the most nutrients possible. It might manage blood sugar
levels and has anti-oxidant, anticarcinogenic, and glucose-lowering abilities. It contains gastro-
protective traits, as well as the capacity to treat fungal infections. These naturally occurring
compounds boost the antioxidant capacity, which is good for human health. Additionally, to
enhance digestion, it exists in the digestive system. Because it is non-allergenic and the most
digesting grain, it is helpful for the spleen and the stomach. The consumption of whole grains
can have a variety of negative health effects. For diabetic people, it is a blessing because it
lowers the body’s blood glucose levels. Additionally lowers bad cholesterol levels (LDL and
VLDL), assists in weight loss, eliminates extra fat by preventing the body from storing too
much fat, lowers the risk of CVD, colon cancer, hypertension, and other diseases.

Which of the following word in the passage means ‘shell’?

(A) Carcinogenic (B) Fungal

@ Hun (D) Spleen

Foxtail millet is known for surviving in which of the following climatic conditions?
(A) Drought (B) Salty conditions

(C) Hard environment .All of the above

Which of the following is good for human health?

(A) Glucose enhancing abilities (B) Boosting carcinogenic traits
.Enhancing antioxidant capacity (D) All of the above

Which qualities of millet make it helpful for the spleen and the stomach?
(A) Non-allergenic (B) Digesting

@ Both (A) and (B) (D) Neither (A) nor (B)
Why is millet a blessing for diabetic people?

(A) Enhances carcinogenic traits

(B) Increases LDL and VLDL

.Lowers the body’s blood glucose levels

(D) All of the above
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001.

002.

003.

004.

005.

006.

007.

008.

009.

Which of the following ions has the highest bond order?

The reaction of iodide salt with concentrated H,SO, in aqueous medium results in:

2—
(A)HI + SO,

2—
@), +s0,+s0, +H,0

(B)0,"
(D) 0,

2—
(B)I,+S0, +H,0

(D) HOI + SO * + H,0

The HOMO to LUMO electronic transition responsible for the observed colours of halogen

molecule(s) is
A —>m*

(C) o —>o*

The transition for the Lyman series in the hydrogen atom spectrum is

(A) 1s < 4s
(C)2s < 4s

Silica is soluble in hot concentrated

(A) HCI

@15 < 4p

D) 2s < 4p

acid.

(B) HNO,

(C)H,50, @ur

The formula of dithionous and dithionic acids are respectively.
(A) H,S,0, and H,8,0, @1,5,0,2ndH,5,0,
(C) H,S,0,and H,S,0, (D) H,S,0, and H,S,0,

Which of the following boranes is an Arachno borane?

(A)B,H,
(C) B.H,

.Ban

(D) B, Hy

For a gas obeying Boyle’s law, a linear relation is obtained by plotting

(A)PwsV

.P vs 1/V

(B) 1/Pvs 1/V
(D) log P vs V

The temperature at which a real gas behaves like an ideal gas over appreciable range of pressure

is known as
(A) critical temperature

(C) inversion temperature

.Boyle’s temperature

(D) consolute temperature

[BIE]
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010. The Root Mean Square (RMS) velocity of hydrogen gas at 300 K is equal to the most probable

011.

012.

013.

014.

velocity of Helium gas at a temperature (in deg. K) of
(A) 950 (B) 800

(C) 840 @200

The mean free path ‘I’ of a gas

(A) is proportional to T™'2 at constant pressure

(B) is proportional to the pressure at constant temperature
.is inversely proportional to pressure at constant temperature

(D) is independent of temperature and pressure under all conditions

Which pair among the following is an intensive property?
(A) volume and temperature

.pressure and temperature

(C) pressure and volume

(D) mass and pressure

When an ideal gas expands at constant temperatures, its
.Enthalpy (H) remains unchanged

(B) Internal energy (U) increases

(C) Enthalpy (H) becomes zero

(D) Internal energy (U) decreases

For the water gas reaction

C (graphite) + H,0 (g) > CO (g) + H, (g)

AH and AS are 131.0 kJ and 134 JK! respectively. This reaction at 298 K is
(A) spontaneous

(B) at equilibrium at 298 K

(C) feasible below 298 K

.spontaneous above 978 K

[BIE] [PT.O.
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01s.

016.

017.

018.

Consider the industrially important reaction
250, (g) + 0, (8) =280, ()
which is highly exothermic and is carried in a closed vessel. The yield of SO, increases when

(A) the pressure of the reacting system is decreased by increasing the volume of reaction vessel at
constant temperature

(B) an inert gas like helium is added into the reacting system at constant pressure and temperature
.lowering the temperature of experiment

(D) an inert gas like helium is added into the reacting system at constant volume and temperature.

Indicate the correct statement among the following:

.the specific conductance conductivity of a strong electrolyte in dilute solutions is proportional
to the concentration.

(B) the equivalent conductivity of a strong electrolyte in dilute solutions is proportional to the
(concentration) ~!/?

(C) the specific conductivity of a strong electrolyte in dilute solutions is inversely proportional to
the concentration.

(D) the equivalent conductivity of a strong electrolyte in dilute solutions is proportional to the
concentration.
The standard electrode potentials for the following redox systems are
Cr*+e=Cr* E'=-041V
Cr** +2e=Cr E'=-0.905V
The standard E° for the half cell reaction is
(Cr** +3e=Cris (in V))

(A) 1.11 &-0.74

(©) 047 (D)-1.48

What is the [UPAC name of the following compound?

.1,7,7-Trimethylbicyclo [2.2.1] heptan-2-one
(B) 1,1,7-Trimethylbicyclo [2.2.1] heptan-2-one
(C) 2,7,7-Trimethylbicyclo [2.2.1] heptan-2-one
(D) 7,7,2-Trimethylbicyclo [2.2.1] heptan-2-one
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019. Which of the following shows M(mesomeric) effect?

(0)

0P
/ :

® 53 2 o P

62 o
(C)\ﬁ\ - > \@)k
/
2 2

(D) /\ra - > @/\C(P

020. Which of the following is the strongest acid?
(A) p-nitrophenol (B) benzoic acid

(C) salicylic acid .2,6-dihydr0xybenzoic acid

021. Which of the following is not the correct pair of isomers?

(A) E> (B) )} [>_\
© o > )}

022. Benzonitrile on hydrolysis followed by reaction with SOCI, and NH, forms a compound ‘A’.

On the treatment with bromine in the presence of strong base, compound ‘A’ gives compound ‘B’
which on heating with chloroform and a strong base gives compound ‘C’. The relation between

the compounds ‘A’ and ‘C’ is
(A) stereoisomers (B) positional isomers

.functional isomers (D) ring chain isomers

[BIE] [PT.O. B
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023.

024.

025.

Which of the following is the most appropriate pair of products formed when

3,3-dimethylbut-1-ene is treated with HBr in the absence of peroxide?

Br

Major Minor
Br
Br &
Major Minor
Br &
©
Br
Major Minor
Br
.>H\ &
Br >(\;1101‘
Major

The correct order of reactivity of the following compounds towards the nucleophilic substitution

reaction is

Ethyl tosylate Ethanol Ethyl fluoride Protonated ethanol
(i) (ii) (iii) (iv)

(A) (i) > (iv) > (iii) > (i) @& > iv) > i) > Gi)

(©) (i) > (ii) > (iii) > (iv) (D) (i) > (iii) > (ii) > (iv)

Which of the following statements is true for methane?

(A) All the substituted halides have zero dipole moment

(B) Monohalo and dihalo derivatives have zero dipole moment
(C) Dihalo and trihalo derivatives have zero dipole moment

.Tetrahalo derivative has zero dipole moment

[BIE] [Contd.
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026.

027.

028.

029.

030.

An aromatic hydrocarbon C H; on treatment with fuming sulphuric acid at 160°C forms a
compound ‘M’. On fusion with NaOH followed by acidification, compound ‘M’ forms a compound
‘N’. Which of the following observations is correct, when an ice cold solution of aniline with NaNO,
and aq. HCl is added to an aqueous NaOH solution of compound ‘N’?

(A) Solution turns hazy with white turbidity

(B) Solution becomes colourless and clear

.Solution turns red with 1-Naphthylazo dye formation
(D) Solution turns red with 2-Naphthylazo dye formation

Which of the following intermediates are formed when propanamide is treated with bromine in
the presence of a strong base?

(A) free radical and carbocation (B) carbene and isocyanate

.nitrene and isocyanate (D) benzyne and carbanion

Available or exchangeable potassium in the soil is determined using which instrumental method?
.ﬂame photometry

(B) gas chromatography

(C) high performance liquid chromatography

(D) atomic fluorescence spectrometry

The analyte that one wishes to subject to GC analysis should have some important properties
namely:

I. It should have low molecular weight
II. It should have low melting point
III. It should have low boiling point

IV. It should be thermally labile

V. It should be thermally stable

(A) All the above are correct (B) Only IL, ITI and IV are correct
(C) Only L, I1, III and IV are correct .Only I, II, IIT and V are correct
The HPLC mobile phase must be free from before use.

(A) suspended solids and solvents

(B) suspended solids and liquids
.suspended solids and dissolved gases
(D) suspended gases and dissolved liquids

[BIE] [PTO.
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031.

032.

033.

034.

035.

036.

037.

Which of the following components in an HPLC instrument does not need to be calibrated?
.column (B) detector

(C) injector (D) pump

The Walkley-Black method is used for which determination?
(A) Carbonates in soil

(B) Total carbon in water

.Organic carbon in soil

(D) Inorganic carbon in water

An unpaired electron coupling with three equivalent nuclei of spin 7 = %:. The number and the

intensities of ESR lines are and respectively.
(A) 3,1:2:1 (B) 3, 1:3:1
@-. 1:3:3:1 (D) 4, 1:1:1:1
The abbreviation CETP stands for .

(A) Controlled Effluent Transfer Process
(B) Central Effluent Treatment Plant
.Common Effluent Treatment Plant

(D) Cost Effective Treatment Process

Dissolved oxygen in water is determined by Winkler’s method. What kind of titration does this

involve?

(A) Precipitation (B) Neutralization

.Redox (D) Complexometric

The azide modification in the Winkler’s method is for taking care of interference.
(A) nitrate .nitrite

(C) ammonia (D) organic nitrogen

What is the full form of NABL?

(A) National Analytical Board for Laboratories

(B) National Accreditation Board for Testing Laboratories

.National Accreditation Board for Testing and Calibration Laboratories

(D) National Approval Board for Calibration Laboratories
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038. NABL is a constituent board of:
.Quality Council of India
(B) National Chemical Laboratory
(C) Department of Biotechnology

(D) Council of Scientific and Industrial Research

039. Solution of which substance is used as primary standard for standardization of aqueous solutions
of alkalies such as KOH or NaOH?

(A) hydrochloric acid
.potassium hydrogen phthalate
(C) sodium benzoate

(D) benzoic acid

040. What is the validity of NABL accreditation in India?

.2 years (B) 3 years
(O) 1 year (D) lifelong

041. From the environment point of view, the outer mantle of the earth is called:
(A) Geosphere .Lithosphere
(C) Hydrosphere (D) Atmosphere

042. For a surface water sample containing 5000 ppm chloride, in the determination of COD by
dichromate digestion method, which treatment for the sample is required?

(A) addition of 1 g of mercuric sulphate to the solution before refluxing with other reagents
(B) dilution of the sample appropriately

.removal of chloride by ion exchange

(D) addition of 1 g of silver sulphate

043. Which of the following molecules are paramagnetic?
0,, NO,NO,, N,0,, N,O,

(A) O, and NO @o,. NO and NO,
(C) NO, NO, and N, 0, (D) 0,, N,0, and N,0,

044. The strongest acid among the hydrides is:
(A)H,0 (B) H,S
(C) H,Se @, 1e

[BIE] [PT.O. n
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045. Which of the following hydrides is thermally most stable?

@i (B) NaH

(C) KH (D) CsH

046. The number of lone pair(s) and hybridization of central chlorine atom in CIF, molecule are

and respectively.
(A) 1, sp’ (B) 1, sp’d
.2, spd (D) 3, sp’d?

047. Which of the following reactions is not feasible?
(A)I"+CL — CI +1, @s: 1,51 +Br,

(C) Br + ClL, - Br, + CI D) I +5,0” - L, +S0*

048. Number of P-O-P bond in P 4O10 is
A3 (B) 4

©5 ®)s

049. In the following reaction, what is Y?
Mg* +HPO " +NH,>X_ 4 .Y
(A) Mg(NH,)PO, (B) Mg,(PO,),

(C) MgP,0, @vie,r.0,
050. In the following reaction, what is/are M?

—_—
(A) only Li (B) Li and Na

M+N,+heat A, Product_ H,0 _NH,

@i ana Mg (D) Na and K

051. The reaction of B H, with NH, gives the product X which upon reacting with HCI produces

compound Y. The compound Y is
(A) B,N.Cl, (B) B,N,H.Cl,

(©) B;N;H, .B3N3C13H9
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052. The correct statement for C-N-C bond in CH,NCO and Si-N-C bond in H,SiNCO structures is:
(A) C-N-C bond is linear and Si-N-C bond is bent
@) C-N-C bond is bent and Si-N-C bond is linear
(C) both have bent structure

(D) both have linear structure
053. Which of the following species is /are pyramidal in shape?
— + —
ClO, , H,0", NO,
@co, anaH, 0 (B) CIO;” and NO,
(C) H,0" and NO, (D) only NO,”

054. Borax bead is

(A) B,0, (B) Na,B,0,
(C) Na,BO, @50, + NaBO,

055. Which of the following oxides is / are amphoteric in character?

BeO, MgO, Ca0, Al,O,
(A) Only BeO (B) only A1203
@3B0 2nd AL0, (D) BeO and MgO

056. The plot of concentration vs time is linear with a negative slope for a reaction of order

(A)2 (B) 1

o012 0
(D)

057. The t, n of a certain reaction is 400 seconds when its initial concentration is 0.1 mol litre”! and is

200 seconds when its concentration is 0.2 mol litre !. The order of the reaction is
A)3 B) 1
@: D) %2

058. The total number of Bravais lattices possible in a crystal is

(A)4 B) 8

@14 (D) 12
059. The number of atoms in an edge centered unit cell is

A1 &

©2 D) 6
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060.

061.

062.

063.

064.

06S.

066.

When a Schottky defect occurs in a crystal,

(A) an ion from normal site occupies an interstitial site
.the density of the crystal decreases

(C) the density of the crystal does not change

(D) an electron is trapped in an anion vacancy

Titration curve, if a strong base is titrated with strong acid, is

w" k | N/

Vol. of HCI added Vol. of HCI added
pH / pH /\
Vol. of HCI added Vol. of HCI added

The unit of molar extinction coefficient (Molar adsorption coefficient) ‘€’ used in Beer-Lambert

law is
.dm3mol“cm“ (B) dm*mol'cm
(C) dm*mol?cm™! (D) dm*mol'cm™!

Mark-Houwink equation ( [n|]=KM?) is used for the determination of
(A) number-average molar mass (B) weight-average molar mass

.Viscosity-average molar mass (D) Z-average molar mass

The Maxwell (STU) relationship is equal to
v

(A) enthalpy .temperature
(C) volume (D) zero

Ifa=b=#c,a=7=90, #90, the crystal system is
(A) cubic (B) orthorhombic
.monoclinic (D) hexagonal

pH of 10 N NaOH is
(A) 8.0 (B) 10
(C) 6.98 @)7.02
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067. Which one of the following solutions will produce maximum elevation in boiling point?
(A) 0.1M glucose (B) 0.2M sucrose
@o.1M BaNO,), (D) 0.1IM MgSO,

068. Heat of combustion of C, H, and C,H_ are —x,, —x, and —x, respectively. Hence heat of formation

of C,H_ is
@ 2x, - 3x,+x, (B) - X~ X, + X,
(©) —x, +2x, +3x, (D) x, +x, — X,

069. The following graph represents the conductometric titration of

-5
)
=
]
S
=
=
=
=
@)
Volume of alkali added
(A) strong acid and strong base (B) strong acid and weak base
(C) weak acid and strong base .Weak acid and weak base

070. Polymer obtained by condensation polymerization is
(A) polyethene (B) Teflon
(C) PVC .phenol-formaldehyde resin

071. Which of the following is not a buffer solution?
@201 + HCl (B) CH,COONa + CH,COOH
(C) NH,Cl1+ NH,OH (D) HCOONa + HCOOH

072. For a three phase system with one component, the degree of freedom according to phase rule is

& B)1

©2 D)3
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073. The number of components of KCI-NaCl-H, O system is
A0 B) 1

(©)2 ®:

074. The monomer(s) used for the formation of nylon-6 is (are)
(A) HMDA and Adipic acid .caprolactum
(C) phthalic acid and ethylene glycol (D) phenol and formaldehyde

075. The Lead-Silver system represents:
(A) Two component system with compound formation with incongruent melting point
(B) Two component system with compound formation with congruent melting point
(C) Two component immiscible system

.Two component miscible system with eutectic point

076. Which of the following hydrocarbon will show maximum number of 'H NMR signals?

H H H CHj
o -
) ®B)
H H H H
CH3 CHgs
H H CH4
]
© ]\V\ ®)
/I/H
H CHs
FsC CH
CH3 3
077. Which of the following statements is true when the following compounds are treated with
aq.Na,CO,?
H H
L I
H30HZCO/ Q 0 OCH2CH3
(L] M]

(A) Both [L] and [M] will form cyanide

.[L] will form cyanide and [M] will form aldoxime
(C) [M] will form cyanide and [L] will form aldoxime
(D) Both [L] and [M] will form aldoxime

m [BIE] [Contd.



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


078.

079.

080.

081.

The correct stereochemistry of the following compound is

CHO
H————CH;NH
HO——H
CH>OH
(A) RS (B) SR
@rr (D) SS

Which of the following is the most appropriate option for the following?

Br_ cl cL Cl
”C:C:C:\ 1C:C:C:
Br/ Cl H/ \H
(i) (i)
| Et Br |
| Et | Br
(iii) (iv)
(A) (i) and (ii) are optically active (B) (i) and (iii) are optically active
(C) (ii) and (iii) are optically active .(ii) and (iv) are optically active

RNA is a derivative of the sugar ribose. Ribose on treatment with bromine water followed by
concentrated nitric acid forms the product

(A) optically inactive mono acid (B) optically active mono acid

.optically inactive diacid (D) optically active diacid

The correct order of basicity of the following amines in aqueous solution is

) G
CH3CH2NH2 (CH3CH2)2NH (CH3CH2)3N (CH3CH2)4 NOH

(@ (i) (iii) @iv)
@& iv) > i) > () > Gii) (B) (iii) > (iv) > (ii) > (i)
(©) () > (iii) > (ii) > (iv) (D) (i) > (iii) > (iv) > (i)
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082.

083.

084.

08S.

Correct matching for the elements of Column-I to that of the elements of Column-II is

Column-I Column-II
(1) SO, (a) Ambident nucleophile
(2) CN°® (b) Carbanion
(3) Benzonium ion (c) Electrophile
(4) Acetylide ion (d) Carbocation

A) (1) = (@), (2) = (b), 3) > (), 4) — (a)
@ - ©.2-> @0 > @@ > b
© @) = (b), (2) = (c), B) — (a), ) — (d)
(D) (1) = (2), 2) = (d), 3) = (¢), (4) — (b)

The relation between the following two compounds is

CIH,C CH,Br CIH,C CH,D
c—cC c—c¢C
DH,C CH,D DH,C CH,Br
(M] N]
(A) [M] is E, [N] is Z and both are diastereoisomers
.[M] is Z, [N] is E and both are diastereoisomers
(O) [M] is E, [N] is Z and both are enantiomers
(D) [M] is Z, [N] is E and both are enantiomers

Which of the following structure is not a contributory structure to the resonance hybrid?

e.b,' ..0
) . \('?:@:O B \(ﬁ o
( )%{ ( )e.-o{

"O\.\'®__ o -.0\'\'%? )
.e.-o/_ o: (D) @.-O/_

Which of the following acts as Michael acceptor in a Michael Addition reaction?
(A) Acetyl acetone (B) An enamine
(C) Methyl acetoacetate .Methylvinyl ketone

[BIE]
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086.

087.

088.

089.

The correct IUPAC name of the following compound is

O
=
o o
.3-(F0rmylmethyl)hexan-1,6-dial (B) 4-(Formylmethyl)hexan-1,6-dial
(C) Heptan-1,3,6-trial (D) Heptan-1,4,6-trial

Correct stability of the following reaction intermediate is

A

) (i)

(iii) (;V)
(A) (i) > (ii) > (iii) > (iv) (B) (i) > (iv) > (ii) > (iii)
.(i) > (ii) > (iv) > (iii) D) (iv) > (i) > (ii) > (iii)

When ethyl acetoacetate is treated with deuterium chloride, the chief product that forms is

Me COOEt Me COOE
cC—¢C c=—=c
(A) HO/ \H .DO/ \H
Me COOEt Me COOE
c—=cC C—C,
(C)po D (D) HO D

A sample of secondary butylbromide shows + 19.4° specific rotation. If its pure dextrorotatory
enantiomer has specific rotation + 23.1°, the enantiomeric excess in the sample will be

(A) 39% (B) 48%
(C) 75% @)s4
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090. When o-bromoanisole is treated with sodamide in liquid ammonia, the major product is

and the reaction is

(A) o-Anisidine, Sy

(B) m-Anisidine, ArS

(C) o-Anisidine, Elimination-Addition
.m-Anisidine, Elimination-Addition

091. Which of the following is true regarding correct geometry of the following compound?

CH3 CH3 Iir
C —= COOH
H N X z
H
H CHj
(A) 28, 3Z, 5E @2, 3E, 52
(C) 2R, 3Z, 57 (D) 28, 3E, 5E

092. A reaction follows the following steps in its mechanism

Iststep: A + B —» C Ea =39 Kcal
2nd step: C — D Ea=12 Kcal
3rd step: D —— > E Ea = 66 Kcal
4th step: E —> F Ea =48 Kcal

Which may be the rate determining step of the reaction?
(A) 1 step (B) 2" step
.3"l step (D) 4™ step
093. Which of the following statements is true when 1-bromo-4-phenylbut-2-ene is treated with aqueous
NaOH solution?
(A) It will undergo S: reaction and form only one product
(B) It will undergo S, reaction and form two products
(C) It will undergo Sy, reaction and form only one product

.It will undergo S, reaction and form two products
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094.

09s.

096.

097.

098.

We can prepare a hydrocarbon, 1-Phenylbutane, in high yield using
(A) Benzene and 1-chlorobutane in the presence of anhydrous AICI,
(B) Chlorobenzene and n-butane in the presence of anhydrous AICI,

.First treating benzene with butanoyl chloride in the presence of anhydrous AICI, followed by
reduction with Zn-Hg / HC1

(D) First treating toluene with propanoyl chloride in the presence of anhydrous AICI, followed by
reduction with Zn-Hg / HCI

Which of the following pair represents both the aromatic compounds?

(A) 1,3-Cyclopentadienyl cation and 1,3-Cyclopentadienyl radical

(B) 1,3,5-Cycloheptatrienyl cation and 1,3-Cyclopentadienyl radical

(C) 1,3,5-Cycloheptatrienyl anion and 1,3-Cyclopentadienyl anion

.1,3,5-Cycloheptatrienyl cation and 1,3-Cyclopentadienyl anion

The total amount of ozone layer in the atmosphere above a point on the earth’s surface is
measured in

(A) microgram per m® .dobson unit

(C) angstrom unit (D) parts per million (ppm)

In West-Gaeke colorimetric procedure for determination of sulphur dioxide, absorbance is

measured for a red purple coloured solution. This colour is due to which compound?
(A) pararosaniline mercurate

(B) dichlorosulphitomercurate complex

(C) ammonium molybdate

.pararosaniline methyl sulphonic acid

Sulphamic acid is often used in the determination of atmospheric sulphur dioxide to tackle

interference.
.nitrite (B) nitrate

(C) sulphate (D) ozone
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099.

100.

101.

102.

103.

104.

An environmental air sample is to be analyzed for quantitative determination of hydrocarbons by
gas chromatography. The sample is suspected to contain light hydrocarbons (C, — C,) along with
the following other compounds: SO,, H S, H,O. Which carrier gas and detector combination will
be the most appropriate for the analysis?

(A) Helium, thermal conductivity detector
(B) Nitrogen, thermal conductivity detector
.Helium, flame ionization detector

(D) Nitrogen, nitrogen phosphorous detector

What does the abbreviation “GLP” stand for?
(A) Great Laboratory Procedures

(B) Guide of Laboratory Preparations
.Good Laboratory Practices

(D) General Laboratory Processes

Which of the following environmental pollutants is generally determined by hydride atomization
method in AAS?

() P @-s

(C) Co (D) Ca

What should be the water sample storage and holding conditions for the determination of BOD?
(A) storage at room temperature, analysis within 1 week

.storage at 4 — 8°C, analysis within 1 week

(C) storage at 4 — 8°C, analysis within 1 month

(D) no storage, immediate analysis

How is ¢cBOD determined?

.by adding nitrification inhibitor
(B) by adding nitrification enhancer
(C) use of less dissolved oxygen

(D) determination at lower temperature

This is the layer of maximum biological activity in the soil and contains most of the soil organic
matter. This is:

.horizon A (B) horizon B
(O) horizon C (D) horizon D
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10S.

106.

107.

108.

109.

110.

From the viewpoint of the 2006 Amendment to the EIA notification, which category projects are
appraised at national level?

(A)D (B) C
(©B @~

The ISO series of standards related to environment management and assessment are:
(A) ISO 9000 @150 14000
(C) ISO 16000 (D) ISO 20000

In performing a BOD test for wastewater sample, oxygen consumed during a definite time period
of holding the water sample in a set of standard conditions is measured. Of the following, which
statement is correct about BOD?

(A) The oxygen consumed from atmosphere for oxidation of organic matter during the holding
period is measured

(B) Dissolved oxygen in the sample before the holding period is measured

(C) Organic waste matter consumes atmospheric oxygen which is measured after the holding
period

.Dissolved oxygen consumed due to microbial degradation of waste matter during the holding
period is measured

Major contributor towards alkalinity in natural waters is:
@) dissolved CO,

(B) calcium salts of sulphates

(C) calcium salts of carbonates

(D) all salts of carbonates

An important observation stated in the National Environmental Policy 2006 is that the major
factor adversely affecting human health is:

(A) improper food habits
(B) irregular weather conditions
.poor environmental quality

(D) poor medical infrastructure

Who / what are at the centre of the sustainable development concerns as per the NEP 2006?
.Humans (B) Industries
(C) Pollution (D) Agriculture
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111. The following BIS classification has been adopted in India for drinking water sources without
treatment but after disinfection:

(A) Class E .Class A
(C) Class B (D) Class C

112. As per the BIS specifications, class B water is classified if it is:
(A) Drinking water source without conventional treatment but after disinfection
(B) Drinking water source with conventional treatment followed by disinfection
.Outdoor bathing

(D) Fish culture and wildlife propagation

113. The BIS contains uniform drinking water quality monitoring protocol specifications. The standard
is limited to:

(A) tolerable and acceptable
.acceptable and permissible
(C) permissible and avoidable

(D) avoidable and required

114. For which of the following parameters there is no relaxation in the permissible limits for drinking
water as per BIS?

(A) colour (B) TDS
.pH (D) calcium

115. Olsen’s method for soil analysis is used for which determination?
(A) phosphate for acid soils
.phosphate for calcareous soils
(C) sulphate for all soils

(D) nitrogen for neutral soils

116. For the determination of available or exchangeable potassium in the soil, is done followed
by instrumental determination.

(A) oxidation using dichromate
(B) reduction using ascorbic acid
(C) precipitation using mercuric sulphate

.extraction using ammonium acetate
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117.

118.

119.

120.

121.

122.

123.

124.

In the atmosphere surrounding the Earth, a layer of ozone is present. This is which part of the
atmosphere?

(A) Troposphere .Stratosphere
(C) Mesosphere (D) Thermosphere

Carbon monoxide in air is determined by which of the following instrumental techniques?
(A) FTIR @ N\DIR (nondispersive IR)
(C) NMR (D) Raman

What does IS 10500-2012 describe?

.Indian Standards for drinking water — specifications
(B) Indian Standards for ambient air quality

(C) Indian Standards for water for agriculture

(D) Indian Standards for outdoor air quality — specifications

Combination of hexamethylene tetramine and hydrazine sulphate produces which is
useful in the measurement of turbidity of water.

(A) hydrazine hydrate .formazin

(C) hydrazine tetramine (D) zormafin

The current standard for air pollution control due to automobile emissions in India is:
(A) Bharat Stage 111 (B) Bharat Stage IV
(C) Bharat Stage V .Bharat Stage VI

The PUC measurement for automobiles in India reports which parameters?
(A) CO, SO,, Smoke density @) co. HC, smoke density
(€) CO, HC,NO, (D) CO, NO,, SO,

The concentration of air pollutants like nitrogen dioxide, sulphur dioxide etc. is commonly
expressed in which units?

& o’ (B) pg/m?

(C) ng/L (D) pg/cm

A standardised value, measured in units of standard deviation, indicating how many standard
deviations the value x is above or below the mean, is called score.

(A)s B)o

Op .z
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125.

126.

127.

128.

129.

130.

131.

What is correct about Quality Control (QC) and Quality Assurance (QA)?
.QC is a subset of QA activities

(B) QA is a subset of QC activities

(C) While QA is a quality management tool, QC is not

(D) Both QC and QA are outside the scope of quality system

The following reaction is the method of extraction of silver. What are X and Y in the reaction?
Ag+CN+0,+H,0 > X —YX 5 Ag+[Y(CN),J*
(A) X=[Ag(CN)], Y =Cu (B) X =[Ag(CN),I, Y="Cu

(C) X = [Ag(CN)], Y =Zn @)x = 1Az(CN),I, Y=Zn

Heating of ore with carbon at high temperature in the absence of air is known as:
(A) reduction (B) oxidation

.smelting (D) roasting

The factor m(weight of Hg flowing via the capillary in mg.sec™! ) and t(drop lifetime in seconds) in

the Ilkovic equation is proportional to
(A) m 12 t 1/6 (B) m 1/2 t 1/3

.mz/s £1/6 (D) m 13 ¢ 173

The working electrode in polarography is:
.dropping mercury electrode (B) calomel electrode

(C) graphite electrode (D) platinum electrode

The metal carbonyl complex that satisfies 18 electron rule is:

(A) Mn(CO), @ icoco),I-

(C) Cr(CO), (D) V(CO),

The number of metal-metal bonds present in Os (CO), , is:

(A) 4 B)5

(0 (D) 8
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132.

133.

134.

13S.

136.

The number and size of rings present in metal ion and macrocyclic ligand complex in

hemoglobin is :

(A) three 5S-membered and three 6-membered
(B) two 5-membered and three 6-membered
.four 5-membered and four 6-membered

(D) four 5-membered and three 6-membered

Most animal cells have

(A) higher concentrations of K* and Mg>* ions in intracellular fluid and lower concentrations of
Na* and Ca®" ions in extra cellular fluid

.higher concentrations of K and Mg?" ions in intracellular fluid and higher concentrations of
Na* and Ca’" ions in extra cellular fluid

(C) higher concentrations of K" and Ca?" jons in intracellular fluid and higher concentrations of
Na* and Mg** ions in extra cellular fluid

(D) higher concentrations of K* and Ca" ions in intracellular fluid and lower concentrations of
Na* and Mg?" ions in extra cellular fluid

The EPR active species among the following ions are:

Cu', Cu*', VO*, V,0,
(A) Cu* and VO** @ cu> and vo*
(C) Cu*" and V,0, (D) Cu” and V,0,

Calomel electrode is an example for

(A) metal-metal ion electrode

(B) gas electrode

.metal-insoluble metal salt electrodes

(D) Oxidation-reduction electrode

If the electronic configuration of nitrogen (Atomic No = 7) is written as 1s? 2s? ZpX2 2py1, it would
violate

(A) Aufbau principle

(B) Pauli’s exclusion principle
.Hund’s rule of maximum multiplicity
(D) None of these
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137.

138.

139.

140.

141.

142.

143.

The maximum number of electrons that can be accommodated in ‘5g’ orbital in an atom is:
(A) 50 (B) 25

(€) 14 @5

What is the cell voltage of Zn | Zn** (0.1 M) || Ag® (0.1 M) | Ag?

The standard reduction potential for Zn?* +2¢” — Zn is —0.76 V and for Ag" + e~ — Agis + 0.80 V.

A)-0.76 V B)+0.80V
@156V (D) +0.04 V

In general, the viscosity with temperature.

.decreases (B) increases

(C) remains the same (D) none of the above

Small droplets are spherical in shape. It is due to
(A) high viscosity

.their tendency to acquire minimum surface area
(C) their tendency to acquire maximum surface area

(D) less viscosity

For a gas in contact with a solvent at a constant temperature, the concentration of the gas that

dissolves in the solvent is directly proportional to the pressure of the gas. This law is
.Henry’s law (B) Raoult’s law

(C) Dalton’s law (D) van’t Hoff’s law

36 g of glucose (molecular mass 180) is present in 500 g of water, the molality of the solution is
(A) 0.2 @o.4

©o0.8 (D) 1.0

A chemical reaction proceeds with increase in both the enthalpy and entropy. This reaction will be
spontaneous if

(A) AH=T AS @21 <12s

(C)AH>T AS (D) None of the above
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144.

145.

146.

147.

148.

149.

For a reaction of the type A + B + C — products, the following observations are made: Doubling
the concentration of A doubles the rate, doubling concentration of B has no effect on the rate, and
tripling the concentration of C increases the rate by a factor of 9. What is the rate law for the

reaction?
(A) rate = k [A]? [B] [C]? .rate =k [A] [C]?
(C) rate =k [A]* [B] [C] (D) rate =k [A] [B] [C]

If the equivalent conductance of a certain solution of acetic acid is 39.07 ohm™ cm? eqvt™.

If ). | (equivalent conductance at infinite dilution) of CH,COOH is 390.7, the degree of dissociation
of acetic acid is

0.1 (B) 0.2
A)

©os (D) 0.75

The Henderson-Hasselbalch equation for an acidic buffer is:

[sat] [salt]
H=pK +1 B) pOH =pK_ +1
.p PR, Tloe [acid] B)p pie, +log [acid]
[salt] [salt]
C)pH=pK -1 D)pH=pK -1
(O pH=pK, og[acid] (D) pH =pK, og[acid]

The phenomenon of lowering of temperature when a gas is made to expand adiabatically from a
region of high pressure into a region of low pressure is known as

(A) First law of thermodynamics
(B) Second law of thermodynamics
(C) Le Chatlier’s principle
.Joule-Thomson effect

The unit of zero order rate constant is:
.mol dm 3! (B) mol dm? s™!
(C) mol! dm ¥ s7! (D) mol dm™

The following equation is given by

Ink=- £, (lj + [nA
R\T

(A) Nernst .Arrhenius
(C) Gibbs (D) Helmholtz

[BIE] [PT.O.
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150.

151.

152.

153.

154.

155.

156.

“It is impossible to attain absolute zero in a finite number of operations”. The above statement is also

known as

(A) zeroth law of thermodynamics
(B) first law of thermodynamics
(C) second law of thermodynamics

.third law of thermodynamics

The solubility product of salt of bivalent metal with chloride ions is 4 x 107 . Its solubility in
mol lit™! will be

(A) 10! @0
©)1073 D) 10

The example of thermosetting polymer is:
(A) Polyethylene (B) PVC
(C) Nylon @ Bakelite

polymerization is also commonly known as ‘living polymerization’.

(A) ring opening .anionic

(C) coordination (D) free radical

Highly crystalline polymers possessing a regular chain geometry show a glass transition
temperature.

(A) zero .high

(C) very low (D) infinite

Which of the following reaction intermediate has linear geometrical character?
.Triplet carbene (B) t-Butyl free radical

(C) Benzyl carbocation (D) Singlet carbene

The method for the estimation of chlorine in aqueous solution is:

(A) direct titration with standard NaOH solution

(B) direct titration with standard solution of sodium thiosulphate
.by titrating the liberated iodine from KI using sodium thiosulphate

(D) titration with standard Na,CO, solution

[BIE] [Contd.
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157. Which of the following product is formed when 1-ethenyl-1-methylcyclobutane is treated with

HBr in the absence of peroxide?

CHs Br CHs
A H,c Br @
Br Br
HsC
© D) hc CHy
HsC
158. In the following reaction, the product D is
(i) DIBAL -H,
Low t C H MgBr
n-CyH,Cl KR, NSRRI g 65 g+ sc—2C 5p
(ii) H50 (ii)H ;0
(PCC = pyridinium chlorochromate)
(A) Acetophenone (B) Propiophenone
.n-Butyrophenone (D) Isobutyrophenone

159. In the following reaction, the product P is

Kcro o EtOH . NaOE: NaBH,

C H OH > T
25 H2S04 H

OH OH O

PN @ | I
OoH OFEt
o) 0 0
M ® )k/\
Et OH

[BIE] [PT.O. m
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160.

161.

162.

163.

In the following reaction the chief product M is

CHs CHs
PPh3=—C
CrO3 A H M
(CH;C0),0
.cis 1-phenylpropene (B) trans 1-phenylpropene
(C) Both (A) and (B) (D) None of the selected options

Which of the following will undergo very slow S reaction?

CH2Br
%7 Br P N -
Br
() (i) (iii) (@iv)
(A) (i) & (ii) (B) (ii) & (iii)

(C) (iii) & (iv) @i

Which of the following is the hydrocarbon E in the following reaction?

Fe, HCI1 HNO
CcHsO,N - 2 - B Absolute c
273-278 K Ethanol
CH;CI CH;C1
> D » E

AlCl3 HF-BF,
(A) Toluene (B) 0-Xylene
.m-Xylene (D) p-Xylene

Which of the following statements is not true?

(A) Magnesium carbide with water produces propyne
(B) Calcium carbide with water produces acetylene
(C) Aluminium carbide with water produces methane

.Calcium carbide with water produces ethylene

[BIE] [Contd.
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164. The chief products O and P of the following reaction are

Br, - o KOH _
Light EtOH, Heat

X
A) . @ Pis @
Ois
Br N
Pis

®B) o

©

Ois

oy O
-0, O

165. Correct matching for the elements of the Column-I to that of the elements of Column-II formed

by the removal of corresponding bromide ion is

Column-I Column-II
(i) 1-Bromo-3-phenylpropene (a) Tertiary carbocation
(ii) 1-Bromo-2,2-dimethylpropane |(b) Secondary carbocation
(iii) 2-Bromo-2-methylpropane (¢) Primary carbocation
(iv) 1-Bromocyclohexane (d) Allyl carbocation

(A) (i) = (@), (ii) — (b)), (iii) — (c), (iv) — ()
@0 - @), i) > (@), (i) > @), (v) > (b)
(©) () = (c), (i) — (b), (iii) — (a), (iv) > (d)

(D) () — (b), (i) — (¢), (iii) — (d), (iv) — (a)

[BIE] [PT.O. m
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166.

167.

168.

169.

Decreasing order of the solubility of the following compounds is

NH, OH CHs
(0] () (1)

(A) () > (IV) > (I1D) > (1)
(©) an > (1) > (1) > (IV)

The product D in the following reaction is

Cyclohexyne @D Os =

(i) Zn / H,O

(1) CH;MgBr / Et,O
Gi) H

(A) 1-Methylcyclohexene

.I-Methylcyclopentene

.

(] €]
NH(CHa),Cl
av)

@& av) > an > @ > am
(D) (IV) > (IIT) > (I1) > (I)

() 2BEtOH / H*

(i) NaOEt
(iii) H", Heat

Conc. H,SO,, Heat

(B) 2-Methylcyclohexene

(D) 2-Methylcyclopentene

Acetylene on passing through red hot iron tube forms a compound ‘M’. On treatment with

acetyl chloride in the presence of anhydrous AICl,, compound ‘M’ forms a compound ‘N’. With

hydroxylamine compound ‘N’ forms an oxime ‘O’ which on heating with excess of concentrated

sulphuric acid forms a product ‘P°. Which of the following is the product ‘P’?

(A) Acetanilide
(C) N-Phenylacetamide

(B) N-Phenylethanamide

@Al the selected options (A), (B) and (C)

What is the relation between the compound A and compound E in the following reaction?
Excess of Cl Aq. Ca(OH), LiAIH, HI, Heat

C7Hg Lioh 2 -_— #) D ’—e> E

(Aromatic) ight H0
A
(A) A and E are Stereoisomers
(B) A and E are Positional isomers
(C) A is aromatic and E is aliphatic
.Both A and E are aromatic
[BIE] [Contd.
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170.

171.

172.

173.

The major product ‘P’ in the following reaction is

Anhydrous AlICl; Alkaline KMnOy4 SOCl,
C6H6 t L t M
CH3CH2C1 NH3
AgNaOH Conc. HNO; p
Br, Conc.H,SOy4
(A) aniline (B) o-nitroaniline
.m-nitroaniline (D) p-nitroaniline

The product ‘S’ in the following reaction is

‘ Et00c~y COOEt o
05, V5,05 (l) NH3 Cl 1O
Naphthalene ————» P ————>» Q -
600 °C (i) AQ KOH (i) H
(A) Phenyl alanine .Aspartic acid
(C) Glutamic acid (D) Succinic acid

In the following reaction E, F and G are

(0]
)J\/\ ]
COO
Kolbe 0s0,
Electrolysis H,O

\/\/\coo@

.E is a keto alkene, F is a keto cis diol, G is an exo ketal
(B) E is a keto alkene, F is a keto trans diol, G is an exo ketal
(C) E is a ketone, F is a keto cis diol, G is an endo ketal

(D) E is an alcohol, F is a keto cis diol, G is an endo ketal

Which of the following statements is true for Si reaction?

(A) It proceeds with complete stereochemical inversion.

(B) It proceeds with complete racemization.

.It proceeds with stereochemical inversion and partial racemization.

(D) It proceeds with complete retention of the configuration.

[BIE]
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174.

175.

176.

177.

178.

Which of the following compounds are chiral?

H N

"U:O

Hy,, 0 /_0CdHs
0
H,
‘N
‘ /#

OCH;
(i) (i) (i)

OCgHs

(A) Only (i) and (ii) are chiral

@) only (i) and iii) are chiral

(C) Only (i) and (iii) are chiral

(D) None of (i), (ii) or (iii) is chiral compound

The EDTA method for the determination of hardness of water is affected by the presence of

interfering manganese ions in + 3 and + 4 oxidation state. Identify the correct reason for this
interference.

(A) manganese ions form strong complex with EDTA
.manganese ions react with indicator oxidizing and bleaching it
(C) causes precipitation of manganese EDTA complex

(D) the solution becomes too acidic for correct end point

Hardness of water as determined by EDTA titration is generally expressed in which units?
(A) mg/L of calcium

.mg/L of calcium carbonate

(C) mg/L of calcium and magnesium

(D) mg/L of calcium and magnesium carbonates

In the composition of a detergent, an example of surface-active agent is:
(A) Zeolite (B) Potassium pyrophosphate
@ sodium dodecyl sulphate (D) Glycine

For a surface water sample, dissolved oxygen was found to be 5.6 ppm at 25°C. This is
equivalent to:

(A) 5.6 ug / pL (B)56 pg /L
@s.6 1.2/ mL (D) 0.56 mg / L

[BIE] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


179.

180.

181.

182.

183.

184.

A hollow cathode lamp is used as in atomic absorption spectrometric technique.
(A) Detector .Source
(C) Monochromator (D) Sample holder

Identify the chemical species that was responsible for toxicity in Minamata:

(A) CH,CH, (B) HgCI*

(C) Hg(NO,)" @z cn,y

The principles of measurement uncertainty estimation have been laid down in the ISO GUM.
Here, full form of GUM is:

.Guide to the expression of uncertainty in measurement, ISO

(B) Guide to understanding the measurement uncertainty, ISO

(C) Guidelines for measuring uncertainty, ISO

(D) Guided procedures for measuring uncertainty, ISO

Boiling hard water can remove temporary hardness. This happens because of which reaction?
(A) carbonates of calcium and magnesium become insoluble and precipitate

(B) carbonates of calcium and magnesium become soluble due to conversion to bicarbonates
.bicarbonates of calcium and magnesium converted to carbonates and precipitate

(D) sulphates and chlorides of calcium and magnesium get precipitated

Use of a graphite furnace for atomization is an example of in atomic spectrometry.
(A) Plasma Flame

(B) Silent Flame

.Flameless technique

(D) Flame proof technique

Amount of DDT is to be determined by gas chromatography after its extraction from soil. Which
detector will be most suitable for this?

(A) flame ionization detector
(B) thermal conductivity detector
.electron capture detector

(D) nitrogen phosphorous detector

[BIE] [PT.O. E
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18S.

186.

187.

188.

189.

190.

A mixture of inorganic anions is to be determined by liquid chromatography. Which combination
of separation and detection will be the most suitable for the same?

.Ion chromatography, conductivity detector
(B) HPLC, RI detector

(C) GC, FID

(D) TLC, MS

The burner in flame photometry is called nebulizer burner because

(A) It takes up liquid samples using pump

(B) It mixes the liquid sample with burner gases

.It introduces the liquid sample in the form of fine spray into the flame

(D) It allows drying of sample before sending it to flame

The equivalent weight of potassium dichromate as oxidizing agent in acidic medium is molecular
weight divided by .

(A)2 (B) 4

©)6 (D) 8

A 100 mL of 5% w/v aqueous solution of sodium chloride (MW = 58) contains:
(A) 5 g of sodium chloride in 100 mL of water

.5 g of sodium chloride in 100 mL of aqueous solution

(C) 5.8 g of sodium chloride in 100 mL of water

(D) 5.8 g of sodium chloride in 100 g of aqueous solution

What will be the effect on the concentration of sulphide ions on addition of 1 mL of 1 M hydrochloric
acid solution to a 0.1 M aqueous 10 mL solution of hydrogen sulphide?

(A) remains unaffected
.decrease
(C) concentration of hydrogen ions in solution will decrease

(D) increase

What is the size range of respirable suspended particulate matter, as per BIS?
(A) 2.5 um (B) 5.0 pm

(C) 7.5 um @10 .m

[BIE] [Contd.
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191.

192.

193.

194.

195.

196.

Piper diagrams are graphs created to understand sources of dissolved constituents in natural

water. These contain chemical data in certain fashion:
(A) two triangles corresponding to cations and anions respectively

(B) two triangles corresponding to cations and anions respectively and a diamond showing their

difference

.two triangles corresponding to cations and anions respectively and a diamond summarizing

the two triangles

(D) three triangles corresponding to cations and anions and their difference

Four forms of nitrogen namely: nitrate nitrogen (NO,-N), nitrite nitrogen (NO,-N), ammoniacal
nitrogen (NH,-N) and organic nitrogen may be present in waters and waste waters. The Total

Kjeldahl nitrogen determines which forms of these?
(A) only ammoniacal (B) All four forms

.ammoniacal and organic (D) nitrate and nitrite

Which of the following is the chief cause of eutrophication?
(A) sulphate .nitrate

(C) chloride (D) carbonate

In the digestion method for the determination of total Kjeldahl nitrogen, potassium sulphate is

added. What is the role of potassium sulphate?

(A) Converts nitrogen compounds present in the water into ammonia
.Raises boiling point of the digestion medium

(C) Suppresses decomposition of organic nitrogen compounds

(D) Acts as a catalyst

In the liquid-liquid extraction method for the determination of oil and grease in surface waters,

which solvent will you consider to be the most suitable?
.Hexane (B) Acetone

(C) Dichloromethane (D) Iso-propanol

Zeise’s salt is:
(A) K, [PtCl 4 (B) K[Pt(Csz)Cl 4

.K[Pt(qz-CzH JCL] (D) K[Pt(3y*-C,H )CI,]

[BIE] [PT.O.
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197.

198.

199.

200.

In flame photometry and AAS, the liquid sample is transferred to the flame in the form of fine
spray. The process is called:

.aspiration (B) atomization

(C) evaporation (D) liquid transfer

Which of the following is the preferred method for the determination of sulphate in the
concentration range of 1 to 40 ppm?

(A) Titrimetry (B) Gravimetry
@ rurbidimetry (D) Colourimetry

What is the absorbing medium for the determination of NO, in ambient air by colourimetric
method?

.Sodium hydroxide and sodium arsenite
(B) Sodium arsenite and sodium chloride
(C) Sodium chloride and sodium nitrite

(D) Sodium nitrite and sodium sulphate

Which is not the correct statement for cyclic voltammetry?
(A) Large supporting electrolyte concentrations are necessary to increase solution conductivity.

.Supporting electrolyte is chemically and electrochemically active in the conditions of the
experiment.

(C) Three-electrodes i.e. working electrode, counter electrode and reference electrode are used
during experiment.

(D) Solvent used in the experiment should be stable toward oxidation and reduction in the potential
range of the experiment.
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